State which Quadrant or on which axis the terminal side of each angle is located.
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State which Quadrant or on which axis the terminal side of each angle is located.
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Section 13-1: Periodic Functions

What you should be able to do after this section:
e Tell if a function is periodic or not.

e |dentify a cycle

e Find the following of periodic functions:
e Period
e Amplitude
e Equation of the Midline(Axis)



Periodic function: Arepeating pattern of y-values at regular intervals.

Midline (also called the Axis):
Thethat passes through the
Cycle: One complete pattern. middle of the graph.
The smallest portion of the function that could be

translated left and right to create the entire function. ;l =

Period: The width of one cycle (x-values)

1. Is each of the below a periodic function? If no, explain why.

Amplitude:

The vertical distance from the midline to either the maximum b. ]

or the minimum.  y-values a. e ' s
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Trace one cycle of
this periodic function.

S Thes 1S an
SXam F\a of
one o  wany cycles.

a\l cycleg worl |

No ) é-\rql u2s
AL :
don DaPecd‘ E \ﬂave He sama
3 2 4 6 8 10 12 ?QNOA °
) If you can't tell by looking at the graph, this is how you find the Midline
State the period of and Amplitude mathematically.
vyt this function.
Midline (Axis): y = Afex Al

Amplitude = /X =111 — half the total height
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Period = 5
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